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1. (@) Explain the various types ol errors |4 _ i
Find tl al r 1.~ | at hkvek [ =) (h)y Solve Lhe system
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1. (@) Find the number of roots ol the cquation { -
fx) =3x"—4x* +5x° -=6x-7=10 | %] 4. () Solve the system
. D
(b) Determine the stepsize that can be used e the 2 S -
tabulation of f{x) = sin x in the mterval [0 /4] 2 #1.01ly =201 (8]
2 . equally spaced nodal points so that the truncation (M Solve the equations
error of the quadratic interpolation 15 less than " 0
5x 107, 1] &
: . + 283+ 3z =3B
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@ia)" Find a root, correct to three decimal places ahd by the method of LU - Decomposition. (8]
lying between 0 and 0.5 of the equation - A
x—-1=0. 18] m
(b) Given that the equation x* = 69 has a root between 4, Use power method to find the largest eigen value and
5 and 8. Use the method of regula-falsi to determme corresponding eigen vector of the matrix.
it. 18]
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2. (a) Find the real root of the equation : X' — ix =5 =) \ | | [16]
correct to four places of decimal by Newton | O il
Raphson method. 18] . _ i
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(6) Find the root of the equation X'+ x -1 =10 by _ | ‘
Newton-Raphson method. 18] 5. (@) Using Newton's forward difference formula, find
’ . the sum
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3. (a) Solve the following system by using the Gauss- et ta to. find ¥E
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| Jordan elimination method ¢ Lagrange's interpolation formula to 8
i s X+ 9% — 3z =2 when X = | aiven that : [ :_
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6x +3y-92=6 8 l o : !
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. (b)) Use Gaussian elimination to solve the system of
- linear equations 5 y
X, +5x, =7 > (@) Prove by Lagrange’s formula : J
3 gi Vi(03) (y5—y._y) + 0.2(y_s-y_s) approxe IOk
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